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21. A man loses 20% of his money and after spending 85% of the remainder, he is left with Rs.120. 
+RZ�PXFK�GLG�KH�KDYH�DW�ILUVW"
A. Rs.1,200
B. Rs.1,000
C. Rs.800
D. Rs.500
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22. $�PDVN�PDQXIDFWXULQJ�FRPSDQ\�PDQXIDFWXUHG�µ;¶�QXPEHU�RI�PDVNV�LQ�������,W�LQFUHDVHG�LWV�
manufacturing capacity by 30% in 2019 and further increased its manufacturing by 15% in 2020. 
In 2021, due to the machinery breakdown, its manufacturing declined by 40%. What is the value 
RI�µ;¶�LI�LW�PDQXIDFWXUHG��������PDVNV�LQ�����"
A. 180000
B. 230000
C. 200000
D. 210000
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23. 20% of the inhabitants of a village having died of malaria, a panic set in, during which 30% of the 
remaining inhabitants left the village. The population was then reduced to 12,000. What was the 
number of inhabitants initially (Consider integral part only)
A. 21000
B. 21428
C. 21500
D. 30428
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24. Three candidates were participating in an election. The person at third place got 20% of the total 
votes while the difference between the votes of the winner and the first runner up was 20% of the 
total votes. If the difference between the votes of the first runner up and the second runner up was 
37,000, how many votes did the winner receive?
A. 1,80,000
B. 1,85,000
C. 1,75,000
D. 1,95,000
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25. $�VKRSNHHSHU�DGYHUWLVHV�IRU�VHOOLQJ�FORWK�DW����ORVV��+RZHYHU��E\�XVLQJ�D�IDOVH�VFDOH�RI�OHQJWK���
metre he actually gains 24%. What will be the actual length he uses instead of 1 metre ?
A. 75 cm
B. 31 cm
C. 76 cm
D. 93 cm
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26. In an election between two candidates, a candidate who gets 76 % of the total votes polled is 
elected by a majority of 1480 votes. What is the total number of votes polled? (Consider integral 
part only)
A. 2800
B. 1800
C. 2846
D. 1846
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27. In the first year the population of a town decreased by 5% due to the Corona virus first wave. In 
the next year it decreased again by 5% due to the second wave and in the third year it increased by 
5%. At the end of the third year the population was 9,47,625. What was the population at the 
beginning of the first year?
A. 7,00,000
B. 10,00,000
C. 8,97,993
D. 9,92,519
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28. Three candidates P, Q and R participated in an election. P got 35% more votes than Q, and R got 
15% more votes than Q. P overtook R by 2,412 votes. If 90% voters voted and no invalid or illegal 
votes were cast, then what was the number of voters in the voting list?
A. 46,900
B. 42,800
C. 42,210
D. 48,500
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29. Three successive discounts of 10% is equivalent to a single discount of:
A. 27.1%
B. 19.0%
C. 25.1%
D. 26.2%
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30. In an election contested between two candidates, 15% of the total voters did not cast their votes 
and 100 votes got disqualified. The candidate who won the election won it by securing 45% of the 
total votes and won by a margin of 400 votes. Find the total number of voters?
A. 6,000
B. 3,600
C. 10,000
D. 3,500
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31. During the first year, the strength of a school increased by 12%, in the second year it decreased by 
12% and in the third year it increased by 10%. At the end of the third year its strength was nearly 
10842. What was the strength at the beginning of the first year?
A. 8000
B. 10000
C. 6500
D. 12000
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32. In an election between two candidates, a candidate who gets 64% of the votes polled is elected by 
a majority of 252 votes. What is the total number of votes polled? 
A. 950
B. 900
C. 850
D. 800
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33. A number is decreased by 20% to get another number. The number so obtained is increased by 
200% to get a third number. The difference of the third number and the original number is what 
percentage more or less than the difference of second and the third number?
A. More, 15.7 Percent
B. /HVV�������3HUFHQW
C. More, 12.5 Percent
D. /HVV�������3HUFHQW
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34. 2XW�RI�DQ�HDUQLQJ�RI�5V������3DQNDM�VSHQGV������+RZ�PXFK�GRHV�KH�VDYH"
A. Rs.250
B. Rs.252
C. Rs.253
D. Rs.251
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35. 7KH�H[SHQGLWXUH�RQ�WKH�FRVW�RI�OLYLQJ�RI�D�PDQ�DQG�KLV�IDPLO\�LV�����RI�KLV�VDODU\��+H�JHWV�WZR�
increment of 30% and 60% in his salary. If his saving increases by 250% of his initial saving, then 
the new cost of living expenditure is what percentage (rounded off to the nearest integer) of the 
increased salary?
A. 32.7 Percent
B. 43.6 Percent
C. 29.5 Percent
D. 36.6 Percent
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Tier-1

12 Dec, 2022
Shift-4 (5:15 PM -

6:15 PM)

MATHEMATICS

Asian Online Smart Practice



36. The sum of two numbers is 680. If the bigger number is decreased by 15% and the smaller number 
is increased by 15%, then the resultant numbers are equal. Find the smaller number.
A. 307
B. 285
C. 291
D. 304
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37. 6KLYD¶V�PRQWKO\�VDODU\�LV�5V���������+H�VSHQGV�5V��������RQ�KRXVHKROG�LWHPV��5V��������RQ�/,&�
DQG�PXWXDO�IXQGV��5V��������RQ�KLV�FKLOGUHQ¶V�HGXFDWLRQ��DQG�NHHSV�5V��������IRU�iscellaneous
H[SHQVHV��+LV�VDYLQJV�DUH�5V��������SHU�PRQWK�DQG�KH�GRQDWHV�WKH�UHVW�RI�WKH�DPRXQW�WR�DQ�
orphanage. The percentage of his income that he donates is:
A. 3%
B. 6%
C. 8%
D. 4%
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